	 
	n
	TP
	FP
	TN
	FN
	Type I error =FP/(FP+TN)
	Type II error =FN/(FN+TP)
	Positive Predicted Value =TP/(TP+FP)
	Negative Predicted Value =TN/(TN+FN)

	>0 CTC
	29
	9
	3
	15
	2
	0.17
	0.18
	0.75
	0.88

	>1 CTC
	22
	5
	3
	13
	1
	0.19
	0.17
	0.62
	0.93

	>2 CTCs
	18
	3
	1
	13
	1
	0.071
	0.25
	0.75
	0.93

	>3 CTCs
	16
	2
	1
	13
	0
	0.071
	0
	0.67
	1

	>4 CTCs
	15
	2
	1
	12
	0
	0.077
	0
	0.67
	1

	>5 CTCs
	13
	2
	1
	10
	0
	0.091
	0
	0.67
	1

	>6 CTCs
	10
	1
	0
	9
	0
	0
	0
	1
	1

	>7 CTCs
	9
	0
	0
	9
	0
	0
	NA
	NA
	1

	>8 CTCs
	6
	0
	0
	6
	0
	0
	NA
	NA
	1

	<=1 CTC
	7
	4
	0
	2
	1
	0
	0.2
	1
	0.67

	<=2 CTCs
	11
	6
	2
	2
	1
	0.5
	0.14
	0.75
	0.67

	<=3 CTCs
	13
	7
	2
	2
	2
	0.5
	0.22
	0.78
	0.5











